RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving the Appointments of the O'odham Charitable Advisory Board to the O'odham Charitable Office)

RESOLUTION NO. 99-236

1	WHEKEAS,	a special election was neld on June 28, 1997 known as the "O'odham
2		Voice" that provides a charitable organization within the Nation to "Create
3		an 11 member Board (1 member from each District) to establish an
4		O'odham Charitable Organization (OCO) on the reservation"; and
5	WHEREAS,	Resolution No. 99-188 was passed on April 19, 1999 amending Resolution
6		No. 98-374, "Approving the Establishment of an O'odham Charitable
7		Office and an Operational Budget of \$220,138.75 and Confirming the
8		Appointment of an Interim Advisory Board" to reinstate the District
9		Chairpersons of the eleven Districts to continue to discharge the duties of
10		the office, until the May 1999 General Session of the Legislative Council;
11		and
12	WHEREAS,	the following were identified by the Vice Chairman of the Nation together
13		with the Rules Committee as qualified candidates for appointments:
14		Pisinemo District, Mrs. Geraldine Mariano; Sif Oidak District, Mr. Gilbert
15		Thomas; Gu Achi District, Mrs. Rose Martin; Baboquivari District, Miss
16		Genevieve Porter; San Lucy District, Ms. Edith Ortiz; San Xavier District,
17		Mrs. Irene Alvarez-Begay; Schuk Toak District, Mrs. Teresa Donahue;
18		Hickiwan District, Miss Glenna Francisco; Gu Vo District, Mrs. Clara
19		Arviso; and two Districts have vacancies, Chukut Kuk District and Sells
20		District; and
21	WHEREAS,	the power of implementation is vested in the Office of the Chairman of the

	RESOLUTION NO. <u>99-236</u> (Approving the Appointments of the O Charitable Office) Page 2 of 3	odham Charitable Advisory Board to the O'odham						
1	Tohono O'odham Natio	n by the Nation's Constitution.						
2	NOW, THEREFORE, BE IT RESOL	REFORE, BE IT RESOLVED that the Legislative Council hereby						
3	confirms the following a	confirms the following appointments and terms of service:						
4	Pisinemo District	Mrs. Geraldine Mariano - 2 year term						
5	Sif Oidak District	Mr. Gilbert Thomas - 3 year term						
6	Gu Achi District	Mrs. Rose Martin - 2 year term						
7	Baboquivari District	Miss Genevieve Porter - 3 year term						
8	San Lucy District	Ms. Edith Ortiz - 2 year term						
9	San Xavier District	Mrs. Irene Alvarez-Begay - 2 year term						
10	Schuk Toak District	Mrs. Teresa Donahue - 3 year term						
11	Chukut Kuk District	Vacant - 3 year term						
12	Gu Vo District	Mrs. Clara Arviso - 3 year term						
13	Hickiwan District	Miss Glenna Francisco - 2 year term						
14	Sells District	Vacant - 2 year term						
15 16	11	y the Tohono O'odham Council on the <u>07TH.</u> day						
17	of <u>MAY, 1999</u> at a meeting at which a quorum was present with a vote of <u>1,927.0</u> FOR; <u>-0-</u> AGAINST <u>; -0-</u> NOT VOTING; and <u>[04]</u> ABSENT, pursuant to the powers vested in the							
18	Council by Section 1 (a) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the							
19 20		Indian Affairs (Operations) on March 6, 1986,						
21	pursuant to Section 16 of the Act of Ju							
22								
23 24	TO TO	OHONO O'ODHAM LEGISLATIVE COUNCIL						
25		$\Omega H + \Omega I = \Omega I = \Omega$						
26		Mhore Manuel K. Jon						
27	De De	ennis Ramon, Legislative Chairman						
28 29		12 th day of //ay , 19 99						

	RESOLUTION NO. <u>99-236</u> (Approving the Appointments of the O'odham Charitable Advisory Board to the O'odham
	Charitable Office) Page 3 of 3
1 2 3 4 5	ATTEST: Julianna Saraficio, Acting Legislative Secretary
6	07 day of May 19 99.
7 8	Said Resolution was submitted for approval to the office of the Chairman of the Tohono
9	O'Odham Nation on the $12^{\frac{1}{2}}$ day of $19^{\frac{1}{2}}$ at
10	2:54 o'clock, P.M., pursuant to the provisions of Section 5 of Article VII of the
11	Constitution and will become effective upon his approval or upon his failure to either
12	approve or disapprove it within 48 hours of submittal.
13	
14	TOHONO O'ODHAM LEGISLATIVE COUNCIL
15	attach M. J. L.
16	Liller Hannel, L. For
17	Dennis Ramon, Legislatiye Chairman
18	24-
19	13 1 199
20	APPROVED on the 13 day of 1977
21	[] DISAPPROVED on the 13 day of 1999 [] DISAPPROVED at 5:57 o'clock,
22 23	T DISATI ROVED at <u>5.57</u> october, <u>4.341</u>
24	$Q_{1} = Q_{2} = Q_{3}$
25	Mund Much
26	EDWARD D. MANUEL, Chairman
27	TOHONO O'ODHAM NATION
28	
29	11/-
30	Returned to the Legislative Secretary on the day of
31	100 99 902
32	May , 19 99 , at 9:03 o'clock, A.M.
33	Vil- Gali
34	A San Carlo A Athan I amin'n Samatani
35 36	Julianna Saraficio, Acting Legislative Secretary
JU	

ACTION: APPROVING THE APPOINTMENTS OF THE O'ODHAM CHARITABLE ADVISORY BOARD TO THE O'ODHAM

CHARITABLE OFFICE

MOVED: COUNCILWOMAN FERN SALCIDO SECOND: COUNCILMAN ALEX JOSE

DATE: MAY 07, 1999

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
CHUKUT KUK 189.0	1. DAVID GARCIA (Marvin Thomas) 2. KENNETH WILLIAMS	94.5	х		-	x
	(Arnold F. Smith Sr.)	94.5	Х			
HICKIWAN 146.0	1. ALEX JOSE	73.0	x			
	2. LLOYD FRANCISCO (Susan Sam)	73.0	Х			
GU VO 142.0	FERN SALCIDO (Larry Montana)	71.0	x			
	2. GLORIA MONTANA (Phillip Antone)	71.0	x			
SAN LUCY 114.0	1. JOHN RENO (Mary Hoffman)	57.0	x			
	2. ALBERT MANUEL, JR. (Jana Montana)	57.0	Х			х
PISINEMO 139.0	1. BARBARA SALVICIO	69.5	x			x
139.0	2. JOHNSON JOSE	69.5	x			
GU ACHI 190.0	1. LOUIS JOHNSON	95.0	x			
190.0	2. ALEX J. RAMON** ()	95.0	х			
BABOQUIVARI	1. FRANCES MIGUEL	129.0	x			
258.0	2. FRANCES G. ANTONE (Edward N. Kisto)	129.0	х			
SAN XAVIER	1. TONY BURRELL	73.0	х			
146.0	2. DENNIS RÁMON ()	73.0	X			
SCHUK TOAK	1. JOSEPH JUAN	60.0	x			
120.0	2. AMBROSE ENCINAS**	60.0	x			
SELLS 322.0	1. DENNIS E. JOSE	161.0	х			
	2. EVELYN JÚAN	161.0	x			
SIF OIDAK 161.0	1. RITA MARTINEZ (Maxine Norris)	80.5	x			x
101.0	2. MARY ANN ANTONE (Darlene Andrew)	80.5	х			
T (OTAL	1,927.0	1,927.0	4	-0-	[04]